Xty s—

[ BEER (BEHE=Y) 9~178F | 17~228%
w—) FAH 3,500 4,400

T-B8-fiA 4,500 5,200
P = 1,400 2,200
XE (18) 200 200
BEE (13 200 300
RKEEE=E 200 200
IREBREE 200 200
BE 100 100
BE 1,800 2,100
BrRE—L 800 900
= 300 400
REE 500 600
EREES 200 300
F2M=E 200 200
HERE 700 900
HEE 700 900

R (FEIX S $H1-Y) 9~128% | 12~178% | 17~228%
w—) ¥H 13,000 21, 300 26, 300

tT-8-%A 16, 300 26, 300 31,300
R o - - -
EE (18) 600 900 1,300
BEE (12) 900 1,300 1,600
KEREHBE 600 900 1,300
IREEHE 600 900 1,300
BE 600 600 600
mE 6, 800 10, 600 12,500
BRE—IL 2,900 4,500 5, 400
HB=E 1,300 2,000 2,300
EE= 1,900 2,900 3,400
F1HE 900 1,400 1,600
g2M=E 600 1,000 1,300
BHEE 2,500 4,400 5,300
HE=E 2,500 4,400 5,300

- EAREICE L, BREBEMTOEBHABIN T,
EREEAShSEREE. HED20%EMALET .

FEAEE, BEEG. THOFOHNA, REOCEALZEHEMNELLIBENHYET.
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